y(tt)]

o y(tD)] o

dM(tt)d[y(tF)] dMI(tt)d[y(tT)]
[fb GeV 1] [fb GeV 1]
300 < M(tt) < 450 GeV
0-02 139+ 3 £12 | 0.6-0.9 120+ 2 +£11
02-04 1384+ 3 £11 | 09-13 93+ 2 49
04-0.6 1364+ 3 +£11 | 1.3-23 250+ 0.9 £2.5
450 < M(tt) < 625GeV
0-0.2 153+ 3 +£14 | 0.6-0.9 114+ 2 £12
02-04 1444 3 £15 | 09-13 73+ 2 +8
04-0.6 137+ 3 +14 | 1.3-23 150+ 0617
625 < M(tt) < 850 GeV
0-0.2 754+ 2 +6 0.6-0.9 46+ 1 44
0.2-0.4 65+ 2 +6 09-1.3 2634 1.0+2.8
0.4-0.6 554+ 2 £5 1.3-2.3 42+ 0.3 +04
850 < M(tf) < 2000 GeV
0-0.2 8.1+0.4+0.8 | 0.6-0.9 45+ 0.2 404
0.2-0.4 83404410 | 0.9-1.3 1.84 0.1 £0.2

0.4-0.6

6.5+0.3+0.6 1.3-2.3 0.1940.03+-0.03




